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J| 1,593,824 1,579,779 14,045
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X 5,770,000 4,770,000 1,000,000
J| 225,091 211,046 14,045
& 1,651,314 1,521,884 129,430
Al 3,172,458 2,884,159 288,299
FotAIE 2t 5,394,229 3,965,657 1,428,572
X 3,200,000 2,200,000 1,000,000
< 411,429 282,857 128,572
Al 1,782,800 1,482,800 300,000
AN 2T 2ELH(F) 4,571,429 3,142,857 1,428,572
X 3,200,000 2,200,000 1,000,000
& 411,429 282,857 128,572
Al 960,000 660,000 300,000
401 Al HI K 201 I 4,571,429 3,142,857 1,428,572
Xl 3,200,000 2,200,000 1,000,000
< 411,429 282,857 128,572
Al 960,000 660,000 300,000
01 A& HI 4,309,087 2,884,372 1,424,715
OR&Xel2atd 2 TLAMY
23 4,309,087,000& 4,309,087 2,884,372 1,424,715
X 3,025,000 2,025,000 1,000,000
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Al 895,158 599,015 296,143
03 Al 2 THHI 12,342 8,485 3,857
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Al 1,389,658 1,401,359 A 11,701
Fatol=2Hd 2 #HAXR 329,160 326,160 3,000
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y] 225,091 211,046 14,045
< 27,123 25,491 1,632
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p] 225,091 211,046 14,045
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< 27,123 25,491 1,632
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< 23,100 0 23,100
Al 53,900 97,000 A 43,100
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OZ=0tEHEH &I A
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Xl 2,276,500 2,563,055 A 286,555
< 682,950 768,925 A 85,975
02 2Zteldl 39,000 0 39,000
OZF=0tEHEH =43 A 39,000,0008 * 14! 39,000 0 39,000
Xl 30,000 0 30,000
=) 9,000 0 9,000
03 AIE 2 THHI 5,850 9,020 A 3,170
OZ=0tEHH =& I A Z 3 5,850,000 5,850 9,020 A 3,170
Xl 4,500 6,945 A2,445
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Xl 140,000 0 140,000
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= 1,279,255 1,376,955 A 97,700
J| 1,368,733 1,368,733 0
= 1,032,335 1,046,195 A 13,860
Al 18,988,983 18,754,833 234,150
s 2stael 22,591,906 22,469,316 122,590
= 1,279,255 1,376,955 A 97,700
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M EE & EFH| 928,304 678,304 250,000
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= 651,000 826,000 A 175,000
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Al 16,500 0 16,500
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